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THIS COPY 1S PROVIDED ON A RESTRICTED BASIS AND IS NOT TO BE USED IN ANY WAY DETRIMENTAL TO THE INTERESTS OF PANDUIT CORP.
s Sonels DESCRIPT[ON WE 1GHT
D2ER* |D-TYPE E-RAIL 600/800mm WIDE X 42RU [12”23 E%g;é%gH]
DSER* |D-TYPE E-RAIL 600/800mm WIDE X 45RU [1§°§3K§ééégiCH]
DSER* |D-TYPE E-RAIL 600/800mm WIDE X 48RU [lgDEEKEéEéEiCH]
NOTE : B
+ DENOTES COLOR - ADD SUFFIX
"B" FOR BLACK AND W™ FOR WHITE
- - NOTES:
| | 1. VISIT OUR ON-LINE CATALOG AT
WWW.PANDUIT.COM FOR A LIST OF
CURRENT PARTS APPL ICABLE FOR
‘ ‘ USE WITH THIS PRODUCT.
| | 2. PRIMARY DIMENSIONS ARE [N
MILL IMETERS (mm) .
3. PARTS SUPPL IED: N
| (1)- SET OF E-RAILS "y
(1) - HARDWARE KIT
(1)- INSTRUCTION SHEET
B |
|
- L _ _
E-FATL CENTEH
) CET OF E-pallc MOUNT ING BRACKETS
(NOT INSTALLED)
D-TYPE E-RAIL DxERx A
CUSTOMER DRAWING
i
INDUIT
15V526ZN_DC/06A AP
A | 6118 | Let | owa | sup | A ADDED DBERx TO CHARTS ON SHEET 18 2 V09001RP N/A
T (CORRECTED WEIGHT FOR 42 & 45)
17 - THIRD ANGLE :
04A | 1-17-17 | LEE | DWR RELEASED TO PRODUCTION V09001CM/05 B@ HIBD ANGLE |5VE267N-D0
REV DATE BY CHK | APR DESCRIPTION ECN LEE 1-17-17 DWR NONE SHT 1 OF 2 A
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SEE
L“Br//DETAJZ A Sl DESCRIPTION DIM "A” | DIM "B"
DoERs  |D-TYPE E-RAIL 1932.2 905, 9
800,/800mm WIDE X 42RU | [ 76.071|[35.67 ]
i ] DsERs  |D-TYPE E-RAIL 2065.6 972.6
i 800,/800mm WIDE X 45RU | [(81.321|[33.29]
! | oaems  |D-TYPE E-RAIL 2198.9 | 1039.2
| | 600,/800mm WIDE X 48BRU | [86.571|[40.91 ] =
[ :I
| 4
: : E-RAITL E-RAIL
: BRACKET
A H DIM A 63,
[ i
3 [2.51]
I %I
: f >
' : DIM "B” 110
: REF
: [1.22]
[ Bl
i d
: DETAIL A
] ScALE | 24
D-TYPE E-RAIL DxER% A
CUSTOMER DRAWING
15V526ZN/06 1
JANDuIT
15V526ZN_DC/06A d
N/A
06A 5-31-18 LEE DWR | SJP |SEE SHEET 1FOR REVISIONS V0O9001RP
_ _ THIRD ANGLE DRAWING NUMBER:
04A | 1-17-17 LEE | DWR SEE SHEET 1FOR REVISIONS V09001CM/05 B@ HIFD ANGLE 15V5267N-DC
REV DATE BY CHK | APR DESCRIPTION ECN LEE 1-17-17 DWR NONE SHT 2 OF 2 A
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